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In Britain, the legal sovereignty
resides in.

(A) The Queen in Parliament

(B) The Queen

(C) The House of Commons

(D) The House of Lords

Who said, “Authority is federal.”
(A) Austin

(B) Laski

(C) Cole

(D) Leacock

Minority Representation
requires

(A) Single-member constituency
(B) Multi-member constituency
(C) Bi-member constituency

(D) None of the above

Who said. “Public Opinion is a
social product due to the
interaction of many minds.

(A) Ginsberg

(B) Locke

(C) Engels

(D) None of the above

4.

forar el 2 |
(A) |HE B I
(B)

(C) B39 3 HiAA

(D) TRW 3G Pied
e T, "o FH B I
(A) iR

(B) e

) T

(D) SR # F PIg 81

fae @el, ‘AP Ad By AT @
RER U W SUOl UE MG
IS B

(A) et

(B) &

(C) e

(D) SR # T PIg 81

Series-B

B.A. LL.B-101/671

Page - 3



Which of the following is not the
agency of public opinion?

(A) Press

(B) Judiciary

(C) Political parties

(D) Private organizations

Which one of the following
hinders the formation of sound
public opinion?

(A) Free Press

(B) Iliteracy

(C) Political Parties

(D) None of the above
Conventions and customs play a
more prominent role in a country
with?

(A) An unwritten constitution

(B) A written constitution

(C) No constitution

(D) None of the above

frfoRad & & @9 SFWa @ gorkd
el & 7

(A) W

(B) =IrguIferah

(C) IFIdd ga

(D) TSl e

ffoed § 9§ &9 WM WHd @
feyafor # qmeres @ 2

(A) W I

(B) fReRar

(C) IFId® ga

(D) SR & F FIg 81

fd FHR & W H WERN 3R
Afd—Raret v e fwmd & 2

(A) T AfeiRad wdfderm

(B) U& forRaq dfdem

(C) SI3 Hfwr T8

(D) SR # T PIg 81
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8.  Parliamentary government is more 8. WG WIR Ad ABdAD & AP :

democratic because : _
o (A) et T §

(A) The judiciary is independent

(B) The government is directly (B) WdR i) ﬂ'rﬁ ST 8

elected

(C) The government can be (C) WER @ I&ell S Wbl & IS

replaced if it ignores public T8 D B Bl ST ol @
welfare _ _
(D) SWIE ¥ ¥ P Tl
(D) None of the above
9. The cabinet under parliamentary 9. WA WHR $ JUE dfevie foda

government is accountable to? gfd STaieeg g ?

(A) The president (A) TSR
(B) The Prime minister B) T
C) The Legislature
ED; None oithe above (©) fRere
(D) SR & F PIg 81
10.  In India, there is : 10, URTH o g
(A) Single Judiciary system (A) TdHd TIUTfeTdT YTl
(B) Double judiciary system (B) S8 =TT woeh
Multi-Judiciar m
HerenanlE S
(D) T ¥ P T
11.  The  Presidential government 1. 3ueTcid WaR o Rigqa ® i
operates on the principle of : T ?
(A) Separation of powers (A) ot B IR
(B) Division of powers (B) e Ca——

(C) Fusion of powers

(C) faai &1 faerg
(D) WfRTAT BT Betldeol

(D) Centralization

Series-B B.A. LL.B-101/671 Page - 5



12, Judicial Review is a feature of? 12.  =nfe e foae fagmar g ?
(A) Parliamentary Government (A) T PR
(B) Presidential Government (B) 3METETHD TRPRN
(C) Unitary Government (C) THHdH TR
(D) Federal Government (D) I TWHR
13. A constitution is known as flexible : 13. 98 Sif9u™ @1 ol 91 I © O
(A) If it can be amended by the (A) &l G GEE ST @ ufhar
ordinary lawmaking ERT R fobar o W ©
rocedure o : .
P (B) SRl 3del Iy WAuH H |
(B) It the states alone can amend _
ECI
the constitution '
(C) I Wi # |eRE @ gl
(C) If the procedure for the
amendment of constitution is i A @l o #l
simple than the ordinary el H ¥R &
lawmaking procedure (D) IRl | HRAT Bicd &
(D) Ifitis difficult to amend
14. In case of a clash between the 14, FHa ?1??[ i ol fiwm ® =9 @R
State and Union Law on a subject A S B S 9 HIG B Regfa # |
in the concurrent list |
(A) The state law prevails
(A) I B B Yol &Il &
(B) The Union Law prevails
(B) TR G Y9l 81T &
(C) Both laws annulled
C) Fl & &
(D) None of the above ©
(D) SWIE ¥ ¥ B Tl
Series-B B.A. LL.B-101/671 Page - 6



15. In India, the power of judicial 15. 9Rd ¥ =R® Tl’\’l‘ﬂﬁ_clv_r[ @l wrfdd
review 1s enjoyed by? foad U By @ ?
(A) The supreme Court alone (A) i W e
B) The Supreme Court as well as ;
®) P (B) Waled =gl R W 2 I
High Courts
RRIRIKR)
(C) All the courts
(C) 41 3reTerd
(D) None of these
(D) T A BIE el
16.  “The Indian Constitution is neither 16. "R fge™ 7 ar ag £ 7 9 WUy
purely federal nor unitary but a 2 3N 9 & UsrAS dfed Sl BT Th
combination of both,” who said O 2 T A BE o ?
this? :
(A) i
(A) Jennings
(B) @ﬁo@ﬁoaﬁ
(B) D.D. Basu
(C) ISR
(C) Ambedkar
(D) None of the above (D) H 3 PR A
17.  Which of the following is not an 17.  fy=fafed § 9 &9 A1 976 & 6
essential element of association? 3ifard dcg F8f § ?
(A) Optional membership (A) FRTE Tewd]
B) Definite and common
®) (B) fRad ok 9mMrg Seew
purpose
(C) fifad &=
(C) Definite territory
(D) SWIE ¥ ¥ B Tl
(D) None of the above
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18.  In India, sovereignty is vested in.
(A) Constitution
(B) Government
(C) People
(D) Prime Minister

19.  “Law s

determinate  human  superior,”
whose words?
(A) Bentham

(B) Grotius

(C) Austin
(D) James Mill
20. The single transferable vote

system requires
(A) Single-member constituency
(B) Multi-member constituency
(C) Neither single nor multi-
member
(D) Both single and multi-
member
21.  Which among the following is
included in the function of media?
(A) Media as a gatekeeper
(B) Media as a watchdog
(C) Media does not help in
socializing

(D) Both Aand B

the command of a

18.

19.

20.

21.

(B) dg—9ewIY e &
(C) 91 Uhdl IR 7 & 95—
(D) UHd 3R qg—Aew QM

frfaRed & @ o9 Afsw & a1 #

e 8 ?

(A) U ERUA & U § AT

(B) & WXl @& w9 # Hifedr

(C) #ifsa aMvidaRy ¥ #eg Tl
PRAT B

(D) (ARIR (B)SH
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22.  Public relations mean : 22, NUD BT A
(A) A planned effort or (A) Td T v 91 yegd ard
management function (B) Ud e 3R 9 W1 & drd
(B) The relationship between an .
KSERE
organization and its publics
(C) WEdMaG JRedo 3R T &
(C) Evaluation of public attitudes
.. pEIED
and opinions
(D) All the above (D) o
23.  Which among these is not an  23. S8 W B9 SIHG &I dcd ol & °
element of public relations? (A) THARHT TR
(A) One-way communication (B) SRl e
(B) Mutual Understanding
(C) ST &I @Il
(C) Caring for public opinion
(D) |G SeRaTI
(D) Social Responsibility
24.  What is the maximum number of  24. H& <R Wkd YRd @ Har
judges of the Supreme Court of ARTTT F IENST P day Ge=T
India, including the Chief Justice? Bpae 3 0
A) 20
) (A) 20
B) 21
®) (B) 21
C) 26
© (C) 26
D) 34
®) (D) 34
Series-B B.A. LL.B-101/ 671 Page -9



25.  Which of the given Article of the  25. HRAY W& & $F AT 3:43?@?{ izl
Indian Constitution empowers the RTTT BI R o T a7 IARFR
High court to issue writs? AT d 7
A) Article 226
) (A) ITHT 226
(B) Article 223
(B) 3T 223
(C) Article 229
C ﬂﬂﬁa 229
(D) Article 232 ©)
(D) 3T 232
26. The correct sequence of the 26. U@ ¥ fA=fRad ol &1 91 %9
following words in the Preamble is. 2l
(A) Sovereign, Democratic, (A) & R SET TS
Socialist, Secular, Republic
P EHRYET, TTORT
(B) Sovereign, Socialist, Secular, _
(B) WWY, ~ GHEEI,  EHRUe,
Democratic, Republic
: L ATz, TR
(C) Sovereign, Socialist,
Democratic, Secular, (©) uig, i '
Republic EH{ARUE, O
(D) None of these (D) T ¥ DI T
27.  Freedom of the press is implied in. ~ 27. U &I ¥addr fog # ffed 2|
(A) Freedom of speech (A) RIREG) EF‘))[ Q‘qq.ﬂd|
(B) Freedom of expression (B) aifvarfad @ vadar
(C) Freedom of association : :
(C) ST BT WAl
(D) None of the above _ _
(D) SWIE ¥ ¥ PIs TaI
Series-B B.A. LL.B-101/671 Page - 10



28.  The term fourth estate is used for? 28. TR W™ TE & AN fea @ fow
(A) Executive foar ST & °?
(B) Judiciary (A) FrIERY
(C) Press/Media B) = R
(D) None of the above ©) S/
(D) SR § § B T2l
29. The method of impeachment of 29. ¥Rd ¥ VTufd W FRIMIM f&a <o
President in India is adopted from? UG A M T8 ?
(A) UK. (A) To o
(B) U.S.A. (B) ToThHoTo
(C) Canada
(D) Australia © @
(D) aifegforar
30. The concept of  political ~ 30.  IoTilfddh G B JATERT DI qebleid
sovereignty was advocated? foge @ o ?
(A) Austin (A) 3iiRed
(B) Locke (B) AAD
(C) Rousseau (C) rovell
(D) J.S. Mill (D) Wotdo fiet
31. Which of the following 31. fi=fofed & 9 fog fAvig & @1 w
judgements stated that 2 f& "Hyare’ R "gdfRuEdr aRdE
“federalism” and ‘secularism” are SR o RS ¥ ?
the basic features of the Indian A) e WRa)
constitution?
(A) Keshavanand Bharti Case (B) THodiwo e
(B) S.R. Bommai Case © frrel st
(C) Minerva Mills Case (D) SR § F P T
(D) None of the above
Series-B B.A. LL.B-101/ 671 Page - 11



32.  The Election Commission is  32. g4 RN @ RO fhsa Cﬂ‘:ﬁ@‘c{ E2
established under which article? Ted @I ol & ?
(A) Article 355 (A) 34_?@_({ 355
B) Article 320
(B) Article (B) THT 320
(C) Article 324
©) ?ﬂﬂ?/@G 324
(D) None of the above _ _
(D) SWRIF 4 ¥ FIg Tal
33.  Which of these two statements is 33. T Lot L A e s 9 s e o
true? 1. ¥RAE 99 39 33l & §9 §U
1. Indian federation is not the =T @ IRUM TS E R
result of the agreement
I8 9 B |
between the units of which it _
_ 2. fd™ W1 @ 989 T SR 9RA
is made. N _
2. India was already a union wEel ¥ € U W o
during constituent assembly (A) ®Tc 1
debates. (B) @ 2
(A) Only 1 (C) 13k 2 TMl
(B) Only2 (D) T H A PSR
(C) Both1l &2
(D) None of the two
34.  The phrase ‘bicameral legislature’ 34, ‘fgaeeg faurRer @ 3T |
means. (A) TS Faifed faenfar
(A) An elected legislature (B) T& Rwnfe R T e alk
B) A legislatu isti f 5
(B) egislature consisting of a — 58 BT 2
lower and an upper chamber _
_ (C) IR B FAG YOIl
(C) Parliamentary system  of
(D) T& Tl faerraT
government
(D) A single assembly
Series-B B.A. LL.B-101/ 671 Page - 12



35. Who believed that sovereignty  35. @M #HAT o 5 FWE wd H &
extended to all individuals and el 9 feaat ik g W EID Sl
associations living in the state? 89
(A) St. Augustine L
(A) e AN
(B) Aristotle
(B) R¥]
(C) Bodin
(C) difeA
(D) Rousseau
(D) w4l
36. The number of subjects in the 36. W?ﬁﬁﬁﬁﬂﬁﬁﬁw ...................... gl
union list (A) 47
(A) 47 (B) 66
(B) 66 (C) 97
(©) 97 (D) 100
(D) 100
37. The Concept of Public Interest 37. THfed Il @ JFERCT ... 4
Litigation originated in . 5 §§|
(A) The United Kingdom :
(A) TEes faren

(B) Australia .
(B) diRgfera

(C) The United States
(C) YT I R

(D) Canada
(D) @S

Series-B B.A. LL.B-101/ 671 Page - 13



38.  The Executive in Presidential form  38. TR&R & JeTHD oy B HRIUNTD
of government is powerful because oifddemel el & |P
— (A) faenRer eaeik &

A) The Legislature is weak :
) s (B) RN @ FRyfad Ul gR1
(B) Judges are appointed by the
P I B
President
_ , (C) IT PG & ReRaT &1 3%
(C) It enjoys the fixity of tenure
(D) The procedure of el &
impeachment is cumbersome (D) He AT B AT AN &

39.  An unwritten constitution is a  39. Ud 3ifoiad Gy fbd & gRT T & ?
creation of? (A) W9
(A) Parliament B) Y Raret va RERTY
(B) Customs and usages

(C) Xl
(C) King : :
(D) SWIE ¥ ¥ P Tl
(D) None of the above
40. The principle of judicial review  40. =& Tl & g @ AU
was founded by? f g gRT @7 TS oY ?
(A) Chief Justice John Marshall A) T e R
B) President Roosevelt
®) (B) IgUfd Holdee
(C) Attorney-General Gerald R. y
(C) ICH—IR RIS 3MRo Hle
Ford
D) T ¥ 5 Tal
(D) None of these ®)
Series-B B.A. LL.B-101/ 671 Page - 14



41.  The idea of Lokpal is taken from.
(A) France
(B) America
(C) Britain

(D) Scandinavian Countries

42. The Area of Lok Sabha and
Vidhan Sabha constituency for
elections is determined by the?

(A) Delimitation Commission
(B) Election Commission
(C) Census Commission

(D) President

43.  Which of the following is not true
about the state and society?

(A) State does not have all
aspects of life but society
does

(B) Society came prior to state

(C) Both have no territorial
jurisdictions

(D) State has sovereignty whereas

society does not possess it

41.

42.

43.

(C) e

(D) hisHfaar <

g & foy dAreaar sk fauremT &
@I eFGd e gRT FaiRa e smar
7 ?

(A) IR 3Rt

(B) FTa 3mar

(C) STV 3T

(D) NTgUfd

ffid § 9 g 3R 99 & dN

R G Tl © ?

(A) I H Wfigq & W U] el &
ofh T # B &

(B) ST 9T ¥ Ul 31T o

(C) =Mt @1 g & @R T 2

(D) ST & AT & Sdih T D
U el 8
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44.  The Indian Parliament is. 44, YRAY GG z|
(A) Not a sovereign parliament (A) fofesr doe @ ®E E Wy
like British Parliament e T
B) A sovereign parliament like : :
®) shp (B) fafewr d@e & T® TH WY
British Parliament _
g
(C) Sovereign parliament like
_ (C) 3MR® HHS B T8 HF] HHS
U.S. parliament
(D) None of these (D) T aI T
45.  For sound public opinion it is 45. TR THd $ folU I NMAWSP B b
essential that : _
(A) U Wd3 B AR
(A) Press should be free
(B) Religious bodies should be (B) i framr wfha g =Ry
active (C) @M B Wi &1 @R
(C) People should be given the
right to property ST <Meg
(D) There should be a I‘lght to (D) ﬁl'a_ﬂ DT W m a—l'%q
education
46. In the U.S.A., the President 46. JoU:olo # ALY B ... B2
performs only. AT 2|
(A) Legislative functions (A) R S
B) Executive functions
®) (B) PRGN B
(C) Judicial functions
(C) =% &
(D) All the functions combined
together (D) W B Ud AT G
Series-B B.A. LL.B-101/ 671 Page - 16



47.  Which one of the following is not ~ 47. fHfaRad # ¥ @9 91 Tl 2l & ?
correct? (A) M WER @ WaT 3R
(A) A constitution described the HTST BT 9 Pl
structure and organization of (B) R ST S o e
the government
(B) A constitution may be TaeTel a1 Wk € H 8
deliberate creation or result (C) T fora W ey
of gradual evolution (D) wfder q oo @ SReR 31
(C) A  ConstitutionMust  be fAfese febar ST =fey
written
(D) A Constitution must specify
the rights of the people
48. Indian Council’s Act, 1909 is 48. 9RdG@ uRYg fAfYTH, 1909 @
commonly known as. MG 39 9 § ST 97T € |
(A) Morley-Minto Reforms (A) Hr—fia IR
(B) Montague-Chelmsford (B) m—ﬁm IR
Reforms ©) Se7 9T 7 AR
(C) Act of Dyarchy _
(D) Act of Provincial Autonomy (D) Wi % 1 BT ST
49.  The growth of the Cabinet System  49.  ®fdve yomell &1 fdo™T 39 W 3memRa
is based on: 2
(A) Constitution (A) wfaum
(B) Convention (B) RERTY
(C) Judicial Decision ©) = .
(D) Formal Amendments _
(D) SfT=ReE FereH
50. The four factors which helped in 50. U @ AN H W@ IR RS o |
the evolution of the state were. (A) TR, M, TR AR g
(A) Population, Religion, (B) W &5, TR
Government and Force (C) g, o ol AR oIS
(B) Population, Territory, -
Government
(C) Kinship, Religion, Force and (D) &, 3, & 3R AR
Political Consciousness
(D) Religion, Force, Territory and
Government
Series-B B.A. LL.B-101/671 Page - 17



51.  Who among the following wrote, 51. fy=foReq & ¥ fow forar, <R
“Political Science begins and ends fase s @ 9 T% 3N AT BT
with the state”? 37
(A) Gettel (A) -
(B) Garner
(B) TR
(C) Garris
(C) R
(D) Leacock
(D) @i
52. Political science cannot be a true 52, Nofa fae e e fdeie el I
science because of : FhdT i :
(A) No uniformity (A) qﬁg THHUdl el
(B) No cause and effect (B) PIE PRV AR P T
(C) No experimentation ©) PIS TANT
(D) All the above (D) e
53.  What is the meaning of Polis? 53.  qiferd &1 FT 3wt 7 ?
(A) Nation-state (A) TG~
(B) Feudal State (B) WM& I
City-stat
(© City-state (C) TR
(D) None of the above _ _
(D) SWIE ¥ ¥ B Tl
54.  Political Science is integrated with 54. oG fasTE @1 o Mg fagml @
other Social Science 1is a RISRGACTURETTI ol Rygrg g ?
fundamental principle of? (A) RERS
(A) Traditionalism
(B) HgeRdla
(B) Behaviouralism
(C) SaRdIs
(C) Liberalism
. D) ScR—deRdlq
(D) Post-Behaviouralism (D) ;
Series-B B.A. LL.B-101/671 Page - 18



55. Who wrote the book ‘A Grammar
of Politics’?
(A) Laski
(B) Hegel
(C) J.S.Mmill
(D) T.H. Green

56.  Political Science is a discipline
that is concerned with the study
of?

(A) State

(B) Nation

(C) Government
(D) All the above

57.  According to the Marxists :

(A) The state 1is a welfare
institution

(B) The state is a class structure

(C) The state is an instrument of
public good

(D) None of the above

58.  Which one of the following is the
most accepted theory of the origin
of state?

(A) Social contract theory
(B) Divine origin theory
(C) Force Theory

(D) Evolutionary theory

55.

56.

57.

58.

T YR 3% Uil ywd e
fordt & ?

(A) DI

(B) &I

(C) SloTdo A

(D) Clotdo YA

RERICAREE E RS B CLE B
fersTe STeTRI & v © 7

(A) T

(B) %

(€) WIR

(D) SR ol
AIEREeAl & AR

(A) T TP BB TN &

(B) ¥ U T AT B

(C) XIY ST @I el &1 U A
g

(D) SR & F PIg 81

fr=feRad # & dF w7 @ Safad @

aifds Wigd Rigrd & ?

(A) MRS 3y Rigrd

(B) i Safa Rigra

(€) ¥ frer

(D) fiwrard figr
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59. Who among these are considered 59. ™ 9 fod W%Iﬁ‘cﬁ NEEIIGED
as modern political theorists? RIGTIPR HMT SIdT & 2
(A) David Easton (A) e e
(B) Almond Powell B) aTawS i
(C) George Catlin
(C) SISl deferd
(D) All the above
(D) SR ol
60. “Political Science be described as 60. TSI IS @ 99 & fou W ®
the study of authoritative AMRHRG deT & T & ®Y §
allocation of values for society” gfttg far o1 Gaar 2 I8 foas del
who said this? o ?
(A) Aristotle (A) IRE
(B) Hobbes B) e
(C) Lasswell © e ——
(D) David Easton ) s deea
61.  Which of these two statements are 61. S AT H W DI AT HUT el § P
correct? 1. ofd fad U6 ybR Ue fasr
1. Political Science is, thus a Y gafe e M @ e
science, though not like the =
physical science.
2. Itis social science. 2. 8 T A R
(A) Only 1 (A) P 1
(B) Only 2 (B) a2
(C) Both (C) T
(D) None of these (D) ST & ®g 78l
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62. The term ‘State’ was first used  62. ST UL BT YN FAYLH oo
by gRT foan T o |
(A) Plato (A) @il
(B) Machiavelli (B) Hfdamdel
(C) Kautilya (C) Pifeey
(D) Aristotle (D) IR

63. Which among these is not an  63. T4 ¥ ®N IY B Icd ol © ?
element of state? (A) SIEEIT
(A) Population (B) &R
(B) Government

©) 4
(C) Values _

(D)
(D) Sovereignty

64.  Which among these social groups 64. T W e amie NbE 2l gx_{i\%ﬂ
is considered Bourgeois? HET ST 8 2
(A) Traders (A) SERTIfd
(B) Capitalists (B) Tyﬂqﬁ
(C) Merchants (C) IR
(D) All the above (D) SRR )

65. State “is a people organized for  65. ¥ ‘Ue ARUd &5 & fi” P E
law within a definite territory”. fore gufed o 2 fodgse o € ?
Whose words? (A) T
A) Laski
(A) Laski (B) TR
(B) Garner

| (©) g e
(C) Woodrow Wilson
—_ (D) Rretfoe
(D) Gilchrist
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66.  Plato fixed the population limit of  66. el 4 Uh IER—T Pl ST I
a city-state to 5040, whereas 5040 feiRa @, Safes &l =1 39 ...
Rousseau fixed it to q R
A) 15000
(A) (A) 15000
B) 12000
(B) (B) 12000
C) 10000
© (C) 10000
D) 5000
D) (D) 5000

67. Which among these is true? 67. TTH W BN W UA B 7
1. Society may be said to have 1. 999 & 99 39 T gen R

been born the day human life RT 7T AT @ ST g_ss
must have begun.
& gl |
2. Society is natural, whereas
2. WA UIGaE 8, Sdidh I TS
the state 1s an artificial
o B R 2 |
mstitution.
(A) Only 1 (A) T 1
(B) Only 2 (B) Bdel 2
(C) Both (C) <M
(D) None of these (D) T4 d ®Ig 78l

68.  The character of associations other ~ 68.  {Y BT IR I B AT ... &l
than the state can be. Fhdr ¢ |
(A) Local (A) @

B) Provincial :
(B) ®) Tida
(C) International _
(C) IR
(D) All the above
(D) ST T4
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69.  Which among these statements is 69. TTH W BIF AT HIUF A el € ?
not true? (A) T B ATl gAEING &R
(A) The state’s Powers are e S WeR @ i
delegated, and derivative; the R S e
government’s powers are real _ _
(B) B WEHR @&d &, I el
and original _
(B) We see the government, not (C) ¥ TP Fwc—oRR S ¢
e state (D) ¥y Il T & U B 2
(C) The state is a near-permanent
institution
(D) The sovereign powers lay
with the state
70. The Constitution of a country 70. ol < BT AR & foru
provides the basis for. YR Y il 2|
(A) Punishment of criminals (A) TR 4 |
(B) Governance of the country (B) M —
© R.e?atlonshlp between the ©) N —
citizens _ _
(D) Trade relations with other (D) ¥ < R AR
countries
71.  The Constitution of India was 71. 9Rd & AR BT HACT oo gINT
drafted by the. IR fobar Tam or |
(A) Advisory Committee (A) HAEHR AR
(B) Secretariat of the Assembly (B) TR
(C) President of the Assembly
(C) ¥ & 3rud
(D) Drafting Committee
(D) wier aff
Series-B B.A. LL.B-101/671 Page - 23



72.  The Constitution of India was  72. HRd & QM ..o T AN
enforced on foam Ty o |
(A) August 15, 1947 (A) 15 IR, 1047
(B) November 26, 1949 B) 2 1949
(C) January 26, 1950
(C) 26 SITd9, 1950
(D) None of the above _ _
(D) ST H 4 B Tal
73.  The Constitution of India does not ~ 73.  HRA & AN oo T B YA
use the term : T PNl & |
(A) Federal State A) v T
(B) Union of States B) N
Ut
(C) Central Government
(C) B WhHR
(D) None of the above _ _
(D) IWE H  Blg Tal
74.  In a federation, there is 74, UH Y H GOC D UL TGT H
representation in the upper house g 2 2
of parliament. A)
(A) Unequal
B) WHIH
(B) Equal (B)
(C) Proportional (C) gy S
(D) None of the above (D) SR H | DIE el
75. In which form of Government 75. WoR & fég wy H ?ﬂa;lﬁl g Udh
Bicameralism is an essential i favredr & ?
feature? (A) T
(A) Parliamentary B)
(B) Federal
, (C) TpTcHD
(C) Unitary .
D) SWRiad H Tl
(D) None of the above D) 7
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76.  American Presidential election  76. 3MWR® LU YA [ HA ]

takes place every? 2T g ?
(A) 5 years (A) 5 T
B) 6
(B) 6 years (B) 6 Wl
(C) 3 years

(C) 3 3T
(D) 4 years

(D) 4 9t

77. In the UK. the executive is 77. Jodho ¥ GHRIUM®! fhead Ufd ScRarl

responsible to the? 27
(A) Legislature (A) frrea
(B) Prime minister (B) T
(C) Judiciary
(C) raiferd
(D) The queen
(D) XA
78. The phrase “Once a speaker is  78. 'Udh R &I WA gHIT WA Bl 2"
always a speaker” 1is associated T Y fhasd fou g ?
(A) The U.S.A. (B) o Fo
(B) UK.
(C) 9Rd
(C) India
(D) fRacurere

(D) Switzerland
79. The government is federal or 79. WRGR WU I UHIHG FABI (IR0

unitary based on  relations 5 3R W BT & ?

between? (A) N N

B) faenRe aik @ruTcreT
(B) Legislature and Executive (B)

(C) Centre and State (C) o= 3R I

(D) None of the above (D) SWRIGT H F BIg el
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80.  The federal government envisions. 80. VU WAR B GRGAAT oo gl
(A) Strong Centre (A) Ao G
(B) Weak Centre (B) FAAR B
C) Neither weak nor Stron
© 8 (C) 7 HHIR IR T & Aorgd B
Centre _ _
(D) SWIE ¥ ¥ P Tl
(D) None of the above
81. Which of these countries has 81. g8 § by <9 # ycuey Mddd 8 ?
introduced a direct democracy? (A) JoTHoTo
(A) The U.S.A. B) o W0
B) UK.
® (C) Ragereive
(C) Switzerland
(D) ¥Rd
(D) India
82.  Which is known as the backbone  82. lldhad &I g & wU § fhd AT ST
of democracy? 27
(A) Interest Groups A) R TE
(B) Pressure Groups
(B) <dId 9fe
(C) Political Parties
(C) IoHIfd® <
(D) None of the above
(D) SWIE ¥ ¥ P Tl
83.  The theory of separation of powers 83. vfdqal & PRECANC?] Rigr o 3
1s associated with? FHT © ?
(A) Montesquieu (A) W
B) Voltaire
(B) (B) deRR
(C) Lord Acton .
(C) e Taed
(D) None of these _
(D) T ¥ BIg el
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84.  The power of judiciary to declare a 84. Wduf® MR W el DI Bl M
law as invalid on the constitutional T HY @) guiferdT & ofdd
ground is. 3
(A) Judicial review A) R ;

(B) Judicial Activism
(B) R widad
(C) Judicial supremacy
(C) e e
(D) None of the above
(D) SWIE ¥ ¥ PIs TaI

85. The Vohra committee was 85. dew wRfd @ fow SR @ fov
appointed to look into? ﬁ'ﬂ’cﬁ fohgr I o7 ?

(A) Socio-economic nexus (A) SIRTG—3nRie Tovre
(B) Crime—politics nexus (B) mT—Wﬁ Tm

(C) Political- industrial nexus (©) ore—aleafiie Touie
(D) Religious-Politics nexus D) TEF TSR o

86. The Indian constitution has taken  86. YR W\ # yw@@AT & fIOR
the idea of preamble form the? foay forar g ?

(A) The constitution of the U. K. (A) q\ozﬁ o T TR
(B) The constitution of the (B) ToThHoTo AR
U.S.A. :
(C) @€l Bl Widem
(C) The constitution of Canada .
D) SWiad H Tl
(D) None of the above D) e

87. What is the maximum strength of  87.  oI¥MT & ARHIH wfdd fa-i § ?
the Rajya Sabha? (A) 245
(A) 245 (B) 260
(B) 260 (C) 250
(©) 250 (D) 280
(D) 280
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88. A motion of no confidence against 88. WROR & Rgam ifovarmy yRard s

the government can be introduced ERT U fhdT &7 Hepar 8 2
by? (A) R
A) Speak T
(A) Speaker ®)
(B) Cabinet
(C) iy
(C) Lok Sabha
(D) =raIferd

(D) Judiciary
89. In Indian Constitution, the idea of  89. "9YRA WAfyH # IAT & Tdh dAY"

“A Union of States in the Indian foor foad forar mar g ?
Constitution” has been derived (A) o 2% 1 TR
from? _ _

(B) ®Icifear &1 Afger

(A) The Australian Constitution _
(C) Y™ &I Hfda

(D) dfesrad &1 wfger™

(B) Constitution of Colombia
(C) Constitution of Bhutan
(D) Constitution of Belgium
90. Which of the following 90. f=foRad & ¥ fove Haenfye e =
Constitutional Amendment RIS R R G CIGRS L] ;fﬂ—cﬁ 62l

reduced the voting age from 21

feTQ AT @1 Mg 21 9¥ | HeraR 18
years to 18 years for the Lok

qy R foam ?
Sabha and state legislative _
(A) 57dl
assembly elections?
(A) 57" (B) 48dl
) 61° (D) 49Tl
(D) 49"
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91.  Universal Adult Franchise means. 91. "IMaHd D AR BT 31 % |
(A) Right to vote to all University (A) W fazafeerer el @1 de
graduates 3 71 JRFR
B) Right to vote to all men :
(B) Rig (B) W G&Y @I AT T BT ARDR
(C) Right to vote to all adult _
(C) I TG AFRG B dlc <7 B
citizen
. DR
(D) Right to vote to taxpayers
(D) IREIARI I dIC < B ABR
92.  Women in England got the right to ~ 92.  g7eivs ¥ AT & ¥ ... RO
vote on equal terms with men in & W AT o BT ARPR AT |
the year.
(A) 1688
(A) 1688
(B) 1911 (B) 191
(C) 1950 (€) 1950
(D) 1928 (D) 1928
93.  One of the chief merits of single-  93. 79 ¥ 9 R Tohd T faies el
member constituencies in. 67} T Trﬁ ¥ 0D B
(A) People have a limited choice (A) SN @ T aroeT gy zfﬁ o
in selectin their .
8 fory e Rier B &
representative
(B) WFE ffa @ Ig¥E R w
(B) Local interest get preference
N ENURINERIN
over national interest
(C) An intimate relationship (C) HACK SIS @ A
between the electors and the IS e
representative (D) JOEEd B ARE  HifeE
(D) A  minority may  get el gopdr @
overrepresentation
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94. A multi-member constituency is 94, Elg—ﬂﬂ@ﬂ'ﬂ fNafem e Tha—ae
better than a single-member falee &9 9 s8R & @it -
constituency because : (A) TE yRIRRE & 99 3 Fdemani
(A) It gives more choice to the 71 3% RAwer 2 &

voters in the selection of .

. (B) IT W& GRNl B FAM@ AST Dl

representatives
(B) It allows poor people to Wﬁ o g

contest the election © ¥ w3 Iofas T@l @ fer
(C) It encourages the growth of BT ISR Brell &

many political parties (D) ¥& ReRr Hae@l @ gHiREd
(D) It ensures stable ministries GG

95.  The system of an adult franchise  95. TR® HARBR &I YOl ARV &
endorses the concept of? 3T 27
(A) Legal Sovereignty (A) Eb‘lﬂ\‘rﬁ W
(B) De-Jure Sovereignty :

(C) Popular Sovereignty ® @ﬁ_\_ﬂ_\; W
(D) Titular Sovereignty © B R
(D) AT &1 FHT

96. I regard it as wholly inadvisable ~ 96. " 34 T & ¥ fd AMaT g &
that any person should participate fodt § Ffed @1 ygd 3R forgd §
in the suffrage without being able T gy R FaReR § W o
to read and write.” Who said? TR A
(A) J.S. Mill

(A) So o it
(B) Laski
(C) Lenin ®)
(D) Garner © Kl
(D) TR
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97.  Which of the following system of ~ 97. & =@ # ufdfR@ @
representation is most popular in f=foRag & 9 o9 9 yoel 99y
the modern states? AT & ?

(A) Functional Representation A) o NN
(B) Territorial Representation
: : (B) &= Hoffe
(C) Proportional Representation
(D) Minority Representation © 3
(D) JETHEH HdI

98.  The Sovereign of Austin is. 98. SRS BT TIY oo gl
(A) Absolute internally (A) 3FARG w9 4 ol |y
(B) Absolute externally (B) 92d ®Y § qUf oY
(C) Neither  externally  nor (C) 7 @ 98 ¥4 ¥ 3R 9 &

internally AaR® v J W’ﬁ
(D) Absolute both externally and (D) = 3R aiaRe Ml e W
internally W’ﬁ

99.  The Pluralists advocate the? 99.  qgordral Bl qapreId B § 7
(A) Autonomy of states (A) T B Wl
(B) Autonomy of Government (B) @R & @RI
(C) Autonomy of Associations ©) do @

D) Autonomy of Central _
) (D) &% WHR B W]
Government

100. The court recognize and apply  100. =IATd &dd Iel SMAI DI A
only those laws which are made Sl 8 AR AN BRAT & W e
by. gRT I 7Y ¥ |
(A) Political Sovereign (A) IR P
(B) Titular Sovereign ®) :

(C) Legal Sovereign W
(D) Popular Sovereign © ; Wﬁ
(D) BT T
Xdhkdkkk
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